


Class (     )  No. (     )  Name: __________________________________

PART 4: DENSITY EXPERIMENT (密度の実験) 

Do you know these things in English? Use a dictionary and write in their names.

MATERIALS
____________________________________________________________________________________ 
____________________________________________________________________________________ 

METHOD

Liquids (液体) Solids (固体)

      ⽔          _ _ _ _ _ _ _ _ _ _ _ _ _ _ 

⻝⽤染料     _ _ _ _ _ _ _ _ _ _ _ _ _ _ 

シロップ     _ _ _ _ _ _ _ _ _ _ _ _ _ _ 

     油           _ _ _ _ _ _ _ _ _ _ _ _ _ _

　　_ _ _ _ _ _ _ _ _ _ _ _ _ _              ⾦属ナット 

ぶどう　 _ _ _ _ _ _ _ _ _ _ _ _ _ _ 　

　　_ _ _ _ _ _ _ _ _ _ _ _ _ _    

スポンジ　          _ _ _ _ _ _ _ _ _ _ _ _ _ _

1. ( ) the (  ) _____ p_______ into the (  ) .

2. ( ) the (  ) _____ p_______ into the (  ) .

3. ( ) the (  ) _____ p_______ into the (  ) .

4. ( ) the (  ) _____ p_______ into the (  ) .

5. ( ) the (  ) _____ p_______ into the (  ) .

6. ( ) the (  ) _____ p_______ into the (  ) .

7. ( ) the (  ) _____ p_______ into the (  ) .

プラスチック
ボトル
のふた



PART 5: WRITING RESULTS 
Create cause-and-effect sentences about the density relationships of the liquids and solids.
First, make a hypothesis- What do you think will happen? Please check (✓) and complete 
the sentence if necessary. Then, watch the video and write the results.

◆ Result: When    A    ,    B   .

A B

1 water + syrup hypothesis:    (   ) it will sit on top of the _____________
(   ) it will sink to the bottom.

Result:

2 + oil hypothesis:    (   ) it will sit on top of the _____________
(   ) it will sink to the bottom.

Result:

3 + metal nut hypothesis:    (   ) it will sit on top of the _____________
(   ) it will sink to the bottom.

Result:

4 + grape hypothesis:    (   ) it will sit on top of the _____________
(   ) it will sink to the bottom.

Result:

5 + bottle cap hypothesis:    (   ) it will sit on top of the _____________
(   ) it will sink to the bottom.

Result:

6 + sponge hypothesis:    (   ) it will sit on top of the _____________
(   ) it will sink to the bottom.

Result:


